.R. Klapptest — Zahlenquadrate 1

Falte entlang der Linie und fllle die fehlenden Kastchen durch
Multiplikation aus.

& 24 6 48 B 4 24 8 B 48
2 16 9 27 8 2 16 9 3 27
48 8 | 384 12 18 (1296
7 5 & 8 7 5 35 [ 8 48
4 B 4 B 32 3 7 21
18 | 56 28 | 40 (1120 18 | 56 [1008
& 18 7 42 B 3 18 6 7 42
8 48 9 63 6 8 48 9 7 63
36 | 24 | 864 54 [ 49 [2646
b 5 b 24 b 5 30 [ 4 24
5 9 4 12 5 9 45 4 3 12
30 | 45 | 1350 24 | 12 | 288
3 4 2 16 3 4 12 2 8 16
3 b 4 16 3 6 18 4 4 16
9 | 24 | 256 8 | 32 |25
Ergebnis:

___J40 P.
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